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2011 Problem Set A

Calculate the following

(1) 806-9
(2) 139x7
(3) 12:06

(4) 8x4-2x5

(5) 5x(2+3)

(6) 17 -

2_4
7 7

2
(7) + g

IS

Answer the following questions.
(1)  Write the following number using numerals.

One hundred thousand four hundred eight

(2)  Inthe following equation, write the appropriate number in O .

O

735=7+ —/—
100

(3)  There are following 4 cards.

L3197

Using these cards exactly once, we will make a 4-digit whole number.
Of the numbers we can make, write the whole number that is closest
to 5000.



[3] Answer the following questions.

(1) When an apple is placed on a scale, the result was as shown in the
figure below.
How many g is the weight of this apple? Write your answer.

900g |kg 100g

200¢

800g

700g

6009

(2)  Sachiko left her house at 9:50 am and arrived at the zoo at 11:15 am
on the same day. How many hours and how many minutes did it take
for her to reach the zoo from her house? Write your answer.

"Time she left her house" "Time she arrived at the zoo"



[4] Write the expression to calculate the area and the area of the following
parallelogram.

4hom

[5] There is a rectangular prism like the one shown in the figure below.

7cm

Scm

2cm

(1)  What are the dimensions of the shaded rectangular face, A. Select
from 1 through 3 below and write the number.

1 Rectangle with the vertical sides of 2cm and the horizontal
sides of 5 cm.

2 Rectangle with the vertical sides of 2 cm and the horizontal
sides of 7 cm.

3 Rectangle with the vertical sides of 7 cm and the horizontal

sides of 5 cm.

(2)  Write the expression to calculate the volume and the volume of this
rectangular prism.
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[6]
[7]

6cm

5cm



[8] There are 5 elementary schools in the city where Atsuko live.

The bar graphs below show the number of students in those elementary
schools.

Number of students in elementary schools

students

| 500

| 000

S00

East West South North Central
Elementary Elementary Elementary Elementary Elementary
School School School School School

Which elementary school has the most students? Write your answer.

[9] A group of elementary school students gathered at a certain location.
Of the 100 elementary school students gathered, 40 % were girls.
How many girls were there? Write your answer.
Also, write the expression to calculate the answer.

Elementary School Students 100

/

Girls [ ]

40 %



